Instructions

for the

Heath

MAILBOX BOARD
Model HKA-232-5

Copyright © 1990

Heath Company

All Rights Reserved HEATH COMPANY

Printed in the United States of America BENTON HARBOR, MICHIGAN 49022 597-5878



Page2 -

INTRODUCTION

The Heath Model HKA-232-5 Mailbox Board adds a
bulletin board feature to your PackKit® Data Control-
ler. You only need to plug the Board into two existing
sockets on the main circuit board and solder one wire.

INSTALLATION
(') Unplugthe cables that are connected to the PackKit () Use a small-bladed screwdriver to carefully re-
Controller, if this has not already been done. move aRry integrated circuits that may be installed
at U2, U3, U4, and US. Push the tool between each
() Remove the six screws that secure the cove onto IC and the socket and carefully lift the IC free.
your Controller. Then carefully lift the cover so NOTE: ICs may not be installed in all four socket.

you can unplug the socket on the end of the wires :
coming from the battery holder. Set the screws and
cover aside temporarily.

Refer to Pictorial 1 while you perform the following
steps.

(v) Position your Controller as shown in the Pictorial.



5% ~ Store the removed ICs in conductive foam (or

P

wrap them in aluminum foil) to protect them from
static electricity. These ICs will not be needed
again unless you wish to use the Controller with-
out the Mailbox Board installed.

Remove the screw that secures the main circuit
board to the chassis at location D.

Refer to Pictorial 2 while you perform the following
steps.

(2

~Position the Mailbox Board near the Controller as

shown in the Pictorial. Then crimp and solder the
free end of the wire coming from the Mailbox
Board tothe indicated end of resistorR186 (330 €,
orange-orange-brown).

Hold the Mailbox Board at an angle and carefully
start pins 1 and 28 of Mailbox Board plugs S101
and S102 into holes 1 and 28 of main circuit board
sockets U2 and U4. Then carefully rock the Board

()

)

()

Page 3

back and forth until all of the pins are seated in the
sockets as far as possible.

Use long-nose pliers to hold the 1/2" spacer in
position between the Mailbox Board and the main
circuit board. Then use a 6-32 x 7/8" screw and a
#6 lockwasher to secure the Mailbox Board to the
chassis at location D.

Position the cover near the chassis. Then recon-
nect the socket on the ends of the wires coming
from the battery holder to its plug on the main
circuit board. NOTE: The socket and plug are
polarized so you can connect it only the correct
way.

Use the six screws you removed earlier to reinstall
the cover onto the chassis.

Referto the “User Manual” for information about using
the mailbox feature.



Page 4

REPLACEMENT PARTS LIST

CIRCUIT HEATH  DESCRIPTION CIRCUIT HEATH  DESCRIPTION
Comp. No. Part No. Comp. No. Part No.
CAPACITORS TRANSISTORS — INTEGRATED CIRCUITS
c101 21-786 .1 uF, 50 V axial-lead ceramic Q101 230-8101  VN10LM or VN10K(N3)
C102 21-786 .1 pF, 50 V axial-lead ceramic transistor
Cc103 21-786 1 pF, 50 V axial-lead ceramic Q102 230-8101  VN10LM or VN10K(N3)
c104 21-786 .1 uF, 50 V axial-lead ceramic transistor
C105 21-786 1 wF, 50 V axial-lead ceramic U101 444-917  27C5121C
C106 21-786 .1 uF, 50 V axial-lead ceramic U102 443-1617 62256 IC

U103 443-1303  74LS3791C

U104 443-1264  74LS1581C
RESISTORS MISCELLANEOUS
R101 - 6-102-12 1000 Q, 1/4-watt, 5% 2%
R102 6-472-12 4700 Q, 1/4-watt, 5% 85-9719-01. Chrcuit board
R103 6-203-12 20 kQ, 1/4-watt, 5% 250-1240  6-32 x 7/8" screw

254-1 #6 lockwasher

255-15 1/2" spacer

432-1380  14-pin plug strip
434-299 16-pin IC socket
434-312 28-pin IC socket



YOUR HEATH PRODUCT
ONE-YEAR LIMITED WARRANTY

Walcome 1o the Heath family. We balieve you will be pleased with the perfcrm ance of your new Heath product. Please read this Consumer Protection Plan carefully. Itis a "LIMITED WARRANTY" as defined by federal law. This warranty
gives you specific legal nghts, and you may also have other rights which vary rom state to siate.

HEATH'S RESPONSIBILITY

LABOR — For a period of one year from the dawe of purchase, any malfunciion caused by ive parts (or y mwhcuo.hmowﬂm-mwﬂn;ﬂumxﬂdmmnw,Homcunpmy
reseives e right to repar of replace the product, at its option.You must deliver the product al your expense to your dealer, the Heath factory, or any of our authcrized overseas distributors.

REPLACEMENT P, — Rep parts are avail for kit prod munomuH-hhﬂﬂymudptwumlpﬂwmmhmdmw.mwlwhmmmwllbompplldlrn
for one year from date of purchasae if hey are factory . Rep parts are for the ,poflenolm-oﬂgnulwmmwpuiud.vwcmuhnhmmlypnldhakmHmcunpnybymatuo-
phcn’ngu;nl1616,m-SSH.Mduﬂlpqmwngmuwbgumwhhyw..‘muroinmm,vwmqmmmngodmttumwmm‘Huhrmhomwrcquterm
ol the part io be replaced.

NOT COVERED — The correction of assembly ecrars in kits, mmmcdinlon..ndmngnmwmnu_m,wnoﬁiwnmlmdwmwmw. Unauthorized service or modification of the product or of any
furnished P will void this y in its entirsty. This warranty does not include reimb for i i loss of use, set-up ime, or unauthorized service.

This warranty covers only Heath pr and is not ded 1o other equip o p thata uses in conjunclion with our pr

REPAIR OR REPLACEMENT, AS DESCRIBED ABOVE, SHALL BE THE SOLE REMEDY OF THE CUSTOMER AND THERE SHALL BE NO LIABILITY ON THE PART OF HEATH FOR ANY SPECIAL, INDIRECT, INCIDENTAL
OR CONSEQUENTIAL DAMAGES, INCLUDING BUT NOT LIMITED TO ANY LOSS OF BUSINESS OR PROFITS, WHETHER OR NOT FORESEEABLE. SOME STATES DO NOT ALLOW THE EXCLUSION OF INCIDENTAL OR
CONSEQUENTIAL DAMAGES, SO THE ABOVE LIMITATION OR EXCLUSION MAY NOT APPLY TO YOU.

OWNER'S RESPONSIBILITY
EFFECTIVE WARRANTY DATE — Warranty begins on the date of first consumer purchasa. You must supply & copy of your proof of purchase when you request warranty service.

QPERA‘I'INGIANUAL—Mywlupllmimluclmc-uh.llywmywwulymdmupnpﬂq)unimmdmdmdplm

ASSEMBLY - I your productis  kit, before seeking warranty service, you should complete th y by ¥ g the _Heath Company is not responsible for completing
on Heathkit products.

ACCESSORY EQUIPMENT —F 1 ions involhving 1o (or interfacing with) other non-Heath equipr are d by this ty and are the owner's responsibility.

SHIPPING UNITS — Damage due o inadequate packing cannot be repaired under warranty.
WARRANTY SERVICE — For warranty service, contact your dealer or place of purchass.

It you are not satishied with our service or our products, write directly to our Director of Customer Servics, Heath Company, Banton Harbor MI 49022 He will make certain your problems receive immediale, parsonal atienion.




